AP Statistics








Chapter Five Exam Study Guide
This test will consist of 10 questions on Moodle (multiple-choice, true-false as well as short answer) and 2 FRQ’s totaling 75 points.  Due to the timing of this test, the there is not enough time to offer a retake so those with a retake available will have the opportunity to do test corrections to ½ points back.  This opportunity will only be offered during office hours the week of Final Exams (Th 12/21 9:00 – 9:45)
The following items are on this exam:

1.  Computing a confidence interval when given the % level required, mean and standard error
2.  Correct interpretation of confidence intervals

3.  Understanding how the width of a confidence interval is changed


a.  % change


b.  sample size


c.  margin of error

4.  Understanding what “statistically significant” means as it relates to a p-value

5.  Understanding how a sample value outside or inside a confidence interval means something

6.  Setting up correct hypotheses for a situation (Ho, Ha)

7.  Describing a Type I and Type II error in context to the situation

8.  Computing the probabilities of committing a Type I or Type II error

9.  Computing a proportion confidence interval all the way through….ACME window advised!
Practice Problems:  Truthfully, many of the exam questions were created by looking at homework problems so revisiting your homework questions and correct solutions is also advised.
1.  a)  The average amount of sleep for teenagers on school nights was found to be 6.4 hours with a standard error of 2.1 hours.  Compute and interpret a 90% confidence interval for this data.
    b)  If a person used this same data and computed a 99% confidence interval, how would the interval change?

2.  a)  In asking primary school students whether they wanted to be a professional athlete when they grew up, 28/300 responded  with a “yes.”  Compute and interpret an 80% confidence interval for this data.

    b)  If a person computed the same 80% confidence interval but for a sample that was twice as big, how would the interval   

    change?
3.  Given the a 99% confidence interval for the average age of high school teachers, (28.2, 55), match the following with  and appropriate p-value for a study of the same data:



 
    a)  PGHS’s average teaching age is 33 years_________



P-value 0.18 or P-value 0.003

    b)  York Academy’s average teaching age is 60 years_________
4.  A study was performed at a 10% significance level to determine whether the average amount of time studying for the SAT had decreased from past years when it was about 2.4 hours per student.  Parents in the local community were thinking that if the results were significant, they would approach the school board to start requiring study sessions on Saturdays for all juniors.  At the end of the study, the researchers had obtained a P-value of .14 and the power of the study was determined to be 0.72.

a)  Write appropriate hypotheses for this study

b)  Describe a Type I error in context

c)  Describe a Type II error in context

d)  Compute the probability of committing a Type I error

e)  Compute the probability of committing a Type II error

5.  In the past it was determined that adults who liked coffee was 48% but the local Starbucks branch wanted to know if this result had significantly changed.  List appropriate hypotheses for a study if it was conducted.









